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Attempt any Five questions.
All questions carry equal marks,
A U= YE wieT |
mit vl & 5 wm ¥
(@) What is a production possibility curve 7
() What does its slope signify ?

(¢) How does the curve reflect increasing opportunity

costs ? 6+6+-8
() TR WWET T | & ?
(9) T8 9% & @ & ofdw awd am & 2

(9) 9% 9% JigHH EW @Fd & $Hy  guia
t 2

Prove that the price-clasticity of demand is different at different

points on a straight demand curve. 20
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“All Giffen goods are inferior goods, but all inferior goods are

not Giffen goods.” Explain. 2

“aft fire IR frew oeg ol ¥, Wg W e
aﬁﬁﬁmﬁmﬂﬁ%ﬁ% " e R

(a) Distinguish between returns to a factor and returns to

scale. 4+4=8
(b)) What do you understand by the term ‘economies of scale 7 4
(E) What are ‘external and internal economies ? 4+4=8
(37) W & ghiwd @ TR & gfawa § ST Wit |

(2) Y =) figeafaad @ 99@ @ oW ¥ W
€ ?

(W) 9@ wd oNafs foasafgadt wm-w=n omt ¥ 2
(a) What are the basic features of monopolistic competition ? 8

(»  Explain the long-run equilibrium of a firm under monopolistic

competition, showing excess capacity. 12
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6. (@) Critically examine the theory of marginal productivity of

distribution. 10

() Explair economic rent. How does it emerge ? Use a diagram
to itlustrate your answer, 10

(37) famm & Ho@ SORED fog@E F1 sTEEAES
Them FisE |

(9) onfder == F1 &, TWE (| TEel s P9
T R ? U TN gW e IR & WOy |

7. {a} Explain the concept of *Nash-equilibrium’ in the context

of “Prisoner’s Dilemma’ problem, 14

(h)  Distinguish a co-operative equilibrium from a non-cooperative
equilibrium in an oligopoly model. 3+3 6

(31) ‘Jv-TugeR’ # oEURn ® e i gfaw’
Toen % ufisy § uHwmEa |
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8. Explain the theory of ‘comparative advantage’ of international

trade. (]
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